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%5 R R BIEEF | BEORE
m 50cm 5cm
1EBRFREORAR 10818 - 0.071 - R AN
2 BBRFREOBELE 10818 = 0.078 - thf =]
3| KLE 2B E 10A2R - 0.045 - R x
4 XLE4E52E 10R2H = 0.095 = R *
5 ALt~ E 10438 - 0.075 - PR FARI7ILE
6| BEBRFANHLEE 10R18 = 0.08 = R avyy—k
1 BBFERALE 10A1RH - 0.065 - PR x
8| BB FHELE 10818 - 0.073 = g -
9 FHEIALE 10428 - 0.056 - R x
10| & HEEH AR 10A2H - 0.058 = g B
NRFEMARLE 10838 - 0.063 - ik B
12| EHMAAE 10A2H8 = 0.112 = g +
13 EFELOHEUIE 10838 - 0.068 - PR B
14 BBRFHELLAR 1081H - 0.075 - thg +
15| BBRFHERLE 10428 - 0.075 - R x
16| HILHEAR 10828 - 0.071 - thR *
17| L IES AR 10828 - 0.042 - eF 3 B
18| LERIFR A E 10A2H - 0.051 - Rk B
19 AFRBHITIEOLE 10A8H - 0.062 - R *
N 20| ZHEAE 1082H - 0.092 - ik B
21 £ B AE 10838 - 0069 - ik =
- 22| ZEWAESAE 10828 - 0.090 - thh {28—OyEY
% 23|#iK1S2E 1088H - 0.058 - g L
}#‘ 24| ENFIXXNE 10A1H = 0.055 = R B
i 25| RFEFARKLE 10A3H - 0.045 - R H
=3 26 IRF ZEFARILLE 10828 = 0.060 = R B
~ 27| iRFZEFARELR 10A8H - 0.048 - sk B
28| EHLAE 10428 = 0.071 = R B
29 EHEAE 10828 - 0.065 - REHRR +
30 KXLE3EE 10428 = 0.075 = hR *
31| KLESELE 10H28 - 0.047 - IRER *
32| KLEF6FE 10428 = 0.076 - IREhR T-&E
B HKLE7ELE 10R2H - 0.093 - th =
34| DKLE A/ X NE 10428 = 0.146 = R x
B RFLAELE 10A 28 - 0111 - IRk T-&
36 dLBRIFIL A E 10828 - 0.062 = ik B
37| dLERIFTE R 10A28 - 0.073 - 2P JLFVTHE
BRFRERAE 10428 - 0.083 - IRBHRR  qrs—nvEsy
I EBRFULELOHLE 10818 - 0.069 - IRtk *
40 BRFHISAE 10818 - 0.058 - LR d
4\ HBRFHEAE 10818 - 0.089 - g avy)—k
42 BRFRZELE 10818 - 0.072 - tha =
3 aLELE 10A3H - 0.089 - IRk +
44 mFINE 10428 - 0.067 - IREFRR w
45 MELEHEAE 10A28 - 0.058 - IRk +
46| AILFENE 10438 - 0.104 - FBEEYO 2
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N R AR et EEE  WEORE
47 BILfE B 10A38 - 0.111 - IREhR x
48 BILELE 10R3H = 0.088 - EEWREA *
O AFRHTHHLE 10A8H - 0.048 - IRtk B
50 X LE1 S E 10R2H = 0.110 = R *
51| XFILAE 1082H - 0.101 - =" 3 1
52| RFILR AR 10828 - 0.125 = i B
53 ZHE—LE 10828 - 0.059 - hh B
54 EFRAE 10A8H - 0.057 = th +
n 55| R3S AE 10A8H - 0.052 - PR B
56| R4S NE 10888 - 0059 - g -
o | 57| iARSEAE 10A8H - 0.049 - R E
%—; 58 i KV <RI AE 10A8H = 0.058 = Rk B
T 59| FFDHAE 10818 - 0.062 - R x
Hh 60| HFHIEAE 10828 - 0.058 - thR *
X 61 HiR2S 1 E 1083H - 0.045 - R B
~ 62| AR2 S NE 1088H - 0.076 - R B
63/ 1=1TDIILE 10818 - 0.051 - R *
64 KA AE 10A1H = 0.105 = g *
65 LoSELNE 10818 - 0.051 - eF 3 B
66| FELAE 10818 - 0.062 - R B
e 10818 - 0.065 - PR B
68 RIEFR B 10818 = 0.061 - th g B
69| HFISAE 10828 - 0.050 - SRS L
70| XZ DL 10828 - 0.096 = e B
ARSI ITNES 10818 - 0.093 - sk B
e =P A/NE 10A3H = 0.053 - thzh =
13| BB P RAE 10A3H - 0.086 - sk B
74| RIBEERAE 10A3H = 0.063 = thf *
75 EiEEREAE 10R3H - 0.106 - th =
76| RIFEEARE 10A3H = 0.082 - tha =
771 XREEBLE 10A3H - 0.066 - SAESIEE =
N 18 XREEELE 10A3H = 0.047 = R x
79| £ AR NE 10818 - 0108 - g &
- 80| RCALAE 10A1H = 0.109 - WE{hE x
; 81| R251E 10818 - 0.056 - g *
Z 82| RASLNE 10A1H - 0.072 = R *
G| 83 EHB1SAE 10818 - 0.075 - ik k=
=3 84 B R25NE 10818 = 0.080 = R B
~ 85 xHF AT LE 10818 - 0.059 - 2P =
86 ;ZHA4ELE 10818 - 0.069 = R B
87 2HFASELE 10818 - 0.082 - g *
88 X A6S5E 10818 - 0.102 = R d
89| B R7FLAE 10818 - 0.114 - hg *
90 FILEFRAE 10438 - 0.072 = R *
9 FLEALE 10838 - 0.066 - hg *
92 BRI AR NE 10818 - 0.109 = s 5
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= A Az AT BEBF | MEORE
73 Tm 50cm 5cm

93 ETILE 10A1H - 0.080 - hR avol)—k
% BEEHLNE 10838 = 0.072 - thf =]
95| T FERIAE 10838 - 0.093 - hh B
9% TorF152E 10R3H = 0.083 = R *
97 REBRTFSELE 10A3H - 0.070 - PR x
98 REHLE 10R3H - 0.075 = th +
99| R1EAE 10818 - 0.050 - hh B
100 R3IEAE 10R18 - 0.036 = th +
101 | R552AE 10A1RH - 0.079 - R x
102 R6 BN E 10818 = 0.089 = g *
103| RT52AE 10A1RH - 0.081 - tha "
104 RSN E 10818 - 0.075 - R B
105 RS NE 10818 - 0.093 - PR B

N 106| R10EAE 10818 - 0.071 = g AZE

107 R1BAE 10818 - 0.059 - PR Az

| 108 NEAE 10818 - 0066 - HhREfl =

co | 109 ERFRRAE 10818 - 0.072 - EEME %k

S5 10 EEFILABLAR 10A1H = 0.085 - WERRIGHR +

= RS 10818 - 0063 - fsk +

H 112 FEtEde A E 10818 = 0.060 = g &

% 13 FtEr A E 10818 - 0.102 - eF 3 B

14| ERAE 10818 - 0.106 - R B
15| FLAEELE 10438 - 0.078 - R *
116| RESHRLE 10A3H = 0.088 = hR *
17| SEHLFIRERLAE 10R18 - 0.060 - s *
M8 REBTFISLE 10A3H - 0.048 = bk B
M BRERTFIFLE 10R18 - 0.082 - s *
120 REHFRF250E 10A3H = 0.085 = thf *
121 FLELLE 10838 - 0.107 - thR *
122 2 FTAE 10A3H - 0.087 = b B
123 FILBHEAR 10838 - 0.059 - R B
124 FrFROAE 10A3H - 0.064 = ik B
125 | MER A E 10A 3R - 0.093 - thh =
126 EARNRLAE 10838 - 0.092 - | EEE ISR R *
127 |IxF L35 10A38 - 0.072 - th a
128|PFE AN ANE 10A8H - 0.079 = R *
129 b &P RAE 10A8H - 0.094 - =oF>3 B
130t &5 5 A E 1088H - 0.082 = ik B
131t 56 S/ E 10888 - 0.069 - R B
13275 LR 1088H - 0.082 = ik B
133 BFHELE 10878 - 0.077 - =oF>3 B
134 R FELDHVIS 10878 - 0.063 = WEE i FARI7ILE
135 EFRRSHYLAE 10878 - 0.102 - th g +
136 | PR E SHTAE 10878 - 0.064 = PR T-ZHE
137|HEYEIELDHVIE 10A7H - 0.082 - s +
138 B AR A E 10878 - 0.102 - @AAD T REE
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&5 s % E AT BIEEF | BEORE
Tm 50cm 5cm
139t EEICLE 10A8H - 0.069 - hh B
140[i#L B 452 10H8H - 0.070 - PR TR B
141|i#de 82852 10A8H - 0.056 - R x
142 it B35 E 10H8H = 0.067 - g B
143t B152 10A8H - 0.074 - hh B
1443t 582 A E 1088H - 0.076 - R B
145 sls — KB A E 10878 - 0.078 - hh B
146 | FPIRFRIAE 10878 - 0.095 = i L3
147 |Fiss 82 AR 10878 - 0.086 - ik B
148| s R E #EE 10878 = 0.083 - R +
149 | FIRRJIP S S A E 10A8H - 0.072 - ik B
150 fREBE=AE 10878 - 0.087 = Rk B
151 [ EHAFALAR 10A8H - 0.081 - tha #H-+
152 | ARZER & A E 10A8H - 0.092 - &LEdhR *
153 EDAE 10A8H - 0.090 - PR B
154 I REF2E 10A8H = 0.075 = Rk +
155 |FTARE 5 2> Bl G KR8 I3 £k 3 1088H - 0.081 - eF 3 B
156| D ELDAE 10A8H = 0.081 = Rk B
157 O E 1088H - 0.088 - PR B
158 FIAKRELE 10A8H = 0.085 = ik B
159 FHAREB LR 1088H - 0.078 - PR 1
160 A SLAE 10A8H = 0.092 = R B
161 FHARDYDKRLAE 1088H - 0.081 - g L
162 EFRTDARLE 10A8H = 0.084 = R B
163 FAETELE 1088H - 0.084 - thf =
164 FAKIR T 2AE 10A8H - 0.089 = bk B
165 | #FT AR E iz 10A8H - 0.087 - R FAI7ILk
166|dL R 75 A E 10A8H = 0.091 = R B
167 dL/EhE A E 10H8H - 0.062 - 2P *
168 ;BB D A E 10A8H = 0.087 = hR +
169 B/ HFLE 1088H - 0.101 - R B
170 | FtemEa A E 10878 - 0.092 = ik B
1M RKEAE 10878 - 0.096 - g *
172 FNEFTAE 10878 - 0.095 = ik B
N 13| FiE1 SR 10878 - 0.060 - g +
174 | kBRI AR 10878 - 0.079 = ik B
| 175 1SR 10878 - 0.083 - R B
Zi | 176 BE AR 1087H = 0.070 = R B
LA 177 ETAEAR 10878 - 0088 - ik =
5 RPN 10878 - 0.088 = ik B
X 179 RTHEAR 10878 - 0.098 - R B
b | 10/ z2mFEAE 10878 - 0065 - EAfE +
181 EME252E 10878 - 0.051 - | [P R (FO) =
182 Ff&3B5LE 10878 - 0.112 = ik B
183 FFHB452EH 10A7H - 0.073 - Rk B
184| IS 15 AE 10878 - 0.078 | sk (B s A A =
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N ES ik A5z B ; AT BIESF | HEORE
m 50cm 5cm

185 | ffk i H AR 10A7H - 0.054 - hR x
2 RERET N 10878 - 0.081 - R t
187 B E T FELDOHVE 10876 - 0065 - BEME +
N | 188 HiE2B5 AE 10878 = 0.080 = h g +
E 189 | #2520 10A7H - 0.064 - R "
| 190 MIEEBLE 10R7H - 0.086 - thf =]
| 191 FERREAE 10778 - 0067 - R t
| 192 FEBERT T AR 10878 = 0.083 - th g B

193 |tk BRI 1 BB 10878 - 0.083 - i B
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